Wedicns cand AlBiGudes

Vocabulary!!

e Median — a segment whose endpoints are
the X 4CX of the triangle and the

j!})dp_d] Q:t of the opposite side.

e Altitude — the segment that passes through the

\/eA :K A of a triangle and is

W to the opposite side
or to the line that contains the opposite side.

Ex1 Given: UUP 15 amedian

P

Sketch the given in the picture

What does the given tell you?
FP% PN

Label this in your picture.

folve for missing variable and find FH. F N = 70
Given: FP =x + 15 and PN =4x — 45

/ k

Ex2 Given: FW is an altitude

W/

Sketch the given in the picture
What does the given tell vuu?
Label this in your picture.

Solve for missing variable.

Given: m/UWF = (15x - 30)

A0115: 35
H(50) 49535

X¥15 = Hy- 45
W=23x X=20

15x- 20 =GO
15X 120

True or False??? Why??

If a segment is both a median and an altitude, then it must be also be a perpendicular bisector.

True - (titude 18 ) anol mugioun goes through mdpt

e If asegment is a perpendicular bisector, then it must be both a median and an altitude.

§ thvu vertex
thhvu_idpont

endic L not odw
Ly Pﬁrpw not aw
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Wediaus of d Griangle

e The g:gﬂﬂmd is the point at

which all three medians are 4
(where they intersect).

»center of Grony In tine

g W\g\l

Concurrency of Medians of a Triangle Theorem

The medians of a triangle intersect at a point that is two thirds of the distance from each vertex

to the midpoint of the opposite side.

The medians of AXYZ meet at point D and

XD = —3)((/ YD=%YA 7D = % Z&

Use the diagrams to answer the questions.

o Name the medians.
BP TN XS
Q What is the centroid of this triangle?

F

o Is BX a median or a side of this
~ triangle?

N
Is PT.EE? no

Isﬁiﬁ? &4@.2

@ ©

© ©

@ ©

Q

o

Name the medians.

AX _T¢ M

What is the center of gravity?

B

Is TC a median or a side of this
triangle?

MEMCUN

Is AT =TJ7? LéfA'S

Is M_C:E W—‘_\? l4€5




AlBiBudes of da Griangle

o The Qr=NOCLA ﬂfj is the point

of _C A NCAAXYCH ;g4,§: of the lines
containing the three altitudes of the triangle.

Concurrency of Altitudes of a Triangle Theorem

The lines containing the altitudes of a triangle are concurrent.

If XE,YC and ZD are altitudes of AXYZ, then the lines containing these segments intersect
at some point F.

Acute A: inside  Right A:onthe A Obtuse A: outside

Use the diagrams to answer the questions,

When a triangle is obtuse, two of the
altitudes are outside of the triangle.
Therefore the orthocenter is outside of

_ the triangle.
o,! ‘Name the altitudes. 0 Name the altitudes.
N3 XK TL JR TA 8C
Q Whe'l't is the crthucenter of the Q What is the orthocenter of th'é

triangle?

triéngle? M

o What is perpendicular to BL? What is Eeree-ndicular to SC?

NL AS

o What is perpendicular to NM? What is perpendicular to RC?

Q




DRis the centrold _r_JF" ASTY
SR =1k . Find SV = M |
—~ RvV: ?
T skR=Fsv
=3y
2 =SV Y

@Tfs the centrord of AGRS

- Tu=7. Find QU= 2\
QT=1H

TU= 3 QU
1=3QV
2=QV °

Cind the coordinates 0f the centroid.




